
TG680−3A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 0,1&26s A&B
Mittel

A1    A2    A3      ∆
0.034 1.263 0.067 0.011

0.077 1.25 0.046 0.001
0.087 0.829 0.011 0.0

0.087 0.829 0.011 0.0



TG680−3A_2

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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L=A3+A1 L A2

Daten & P−A3−Fit
AD 0,1&26s A&B
Mittel

A1    A2    A3      ∆
0.034 1.263 0.067 0.011

0.077 1.25 0.046 0.001
0.087 0.829 0.011 0.0

0.087 0.829 0.011 0.0



TG680−3A_3

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 0,1&26s A&B
Mittel

A1    A2    A3      ∆
0.034 1.263 0.067 0.011

0.077 1.25 0.046 0.001
0.087 0.829 0.011 0.0

0.087 0.829 0.011 0.0


